Adjective and adverb | Exercise with answers

Answers are at the bottom of the page.
Exercise 9
1. Hesings I ]|v .

The cost of electricity is I Lﬂ by around 10 % a year.

She thinks Japanese is an I jﬂ language.

v

He should pass the test

He's anI Ll guitar player.

The dog barks I :Iv .
The dog isI :Iv .
He is not rich, and spends moneyl :IL .

10. Linda is aI :Iv girl.

2
3
4
5
6. The tournament wasl j organised.
7
8
9

ANSWERS

well
increasing
easy
easily
excellent
excellently
angrily
angry

. carefully
10. careful
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